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run_13045164 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Wed Feb 15 00:27:22 2012

[ ADC for FGT RDO=2,ARM=0,APV=17

-ped

Al
<

1000

2000

3000 4000

raw ADC

[[_ADC for FGT RDO=2,ARM=0,APV=18

1000

2000

3000 40(
raw ADC

[ ADC for FGT RDO=2.ARM=0,APV=19
—

ABC-ped

1
1000

1
2000

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=20

ADgped

0 1000

2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=21

1000

2000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] = . . . . . .
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
5i0)|=—=5c505555305505000500000500000000 o
= 2 2
= . 2
0 f=—- 3 i
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 =~ -~ - -1t-
< = H
3000 f=— - - - - - o|p=odegescecssscaes -1t-
2500 = +|- - - - - B R EE TP -1t-
=
2000 = - - - - - B T -1t -
= o
1500 f=r— |- - - - - -1t-
= b
1000 = +{- - - - - R -1t
= 8
500 = -tk sosiallie
= H 8
Of=—------ B T P 1f-r
= . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
= 4000 p—
] = . .
& =
Q 3500 f=—| e
< =
3000 - === seleee
2500 [ P

2000

1500

1000

500

0

ADC for FGT RDO

=
=
=
e
=
=
=
==
=
=

0

20 40 60 80 120

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel




run_13045164 FGT _MPV_1,Timebin=2,Disc=1,asmb=1CD
Wed Feb 15 00:29:14 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Wed Feb 15 00:29:49 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

RMS (ADC-ped)

50

L—
| ]
[

40 p—-F -4 FFH---- - S EEEEEEEEEPTRE £ EET R EEEEEEE! | PR PR | EEE TR =E B EEE TR & TP B LT TP e
= -

30—~ f A1 B B ot S L o o B A o ol (R o Sy & P Bl I T -~ 11T = - i s I o O 1T
h— 5

20 s L B ST EE I S ¥ oy Ry R N 1 [ PRyt 14 1 1 SRR 1 Ry I Py S 1 8 R
—

T T B R TR TP PP R PP B R TR PP SRR

o = i i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

RMS (ADC-ped)

50

[TT

40

axoExoa
TT1T

30

20

10

S SEOOXOOXOaxXomxo

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

60

i
120
APV channel

[CADC RMS for RDO=2,ARM=0,APV=20 _}

RMS (ADC-ped)

60
50

n=
40 B
=
20 =
10 f—
00

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel
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run_13045164 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Wed Feb 15 00:27:48 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13045164 FGT _MPV_1,Timebin=2,Disc=2,asmb=2CD

Wed Feb 15 00:29:18 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1,Timebin=2,Disc=2,asmb=2CD
Wed Feb 15 00:29:52 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC

Wed Feb 15 00:27:49 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

ADC-ped

[ 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=1 }

ADGped

I
3000 4000
raw ADC

1
0 1000 2000

[ADC for FGT RDO=2,ARM=2,APV=2 }

AD%‘ped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=3 }

ADgAped

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=4 }

-ped

Al

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=0_}

= 4000 p—
] = .
& = 2
Q 3500 f=—|- o - - | - of e i
< = 8
3000 P=—|- ===} -fof -2 q -
= 8
2500 p=—|"" """ [ [~"1:1"""""" o
= 8
2000 f=—|- o= =} -fef oo a g e
= 5
1500 = |- o= == f o b f oo fid e
1000 P=r—|- A= - - f - - f 424
= 8
= 8
P70 P I A S o
= 2
= -1 |- -
o=t f--qF -
= i i i i i i
0 20 40 60 80 100 12
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 pm—---1{-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
oE—---1-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. B Ol . L EOoa

10°

10"

10°

10°

10"

10°

10"

10

10"




run_13045164 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Wed Feb 15 00:29:18 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

MPV (ADC-ped)

1500 [+

1000 [+

-500

i i
100 120
APV channel

[ADC MPV for RDO=2,ARM=2,APV=3 _}

MPV (ADC-ped)

1500

1000

500

-500

PRTTTT [1-r1-r]-'-1-|-|-|-r-|-r1-[1-|-

i i i i i i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Wed Feb 15 00:29:52 2012

[ ADC RMS for RDO=2,ARM=2,APV=0 }
g (D |=—=5°0°5500500500050005005005000509550050050AD5005500RA0560005005500HP055005005500530550050ab5005505500900550055000505005500550050050055055005003
2 = n
9 =
2 70 =
g 60 [
°‘ =
50 :
40 E
30 :
=
20 B+
==
10 FH
EH
0%
APV channel
[ ADC RMS for RDO=2,ARM=2,APV=1 "}
=
2 70
[}
a
< 60 |
(2]
b
= 50
40 F
30
20 _
= :
= :
= i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=2,APV=2 "}
= 70
5
&
8 60
<
(2]
= 50
40
30
20
10 |5
0
APV channel
[ ADC RMS for RDO=2,ARM=2,APV=3 }
=) 90 [/
g =
g 0=
o 0 B
=
[
60 P=
0=
20 =—
20
10 -
® i i i i i
40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=2,APV=4 "}
5 80
&
g 70 [
<
2 60 [
o

50
40
30
20 F

10

0

APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Wed Feb 15 00:27:58 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




3BC

3,asmb

In=2,Disc=
20 2012

b
29

Ime

Wea Feb 15 00

51

run_13045164 FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

2,APV:
2,APV:
2,APV:
2,APV:

2,ARM
LARM:
2,ARM
LARM

2
2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13045164 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Wed Feb 15 00:29:53 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Wed Feb 15 00:28:00 2012

ADC for FGT RDO=2,ARM=2,APV=12 _§

ADC-ped

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=13 _§

I
3000 4000
raw ADC

1
0 1000 2000

ADC for FGT RDO=2,ARM=2,APV=14___§
—

-ped

U

Al

1 1
1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=15__§

-ped

Al
3

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=16 _§

Agoped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=2,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
ofE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=2,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... 8 B0 . L A

10

10"

10°

10°

10"

10

10

10

10°




run_13045164 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Feb 15 00:29:20 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Wed Feb 15 00:29:53 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

g o
3 Ol = S R EE P R R T E PP
a =~
< om
@ 60 FRHHF-- -t - -
s H
@ FH
ol e o o I Rl e R B A B B o ] ) T N TR T
EH
N = = o | EEEERL . PPPPPRR-TREER B PP
i

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

70 =

60

RMS (ADC-ped)

50
wf
30
20 |

10

0
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=14 "}

70

60

RMS (ADC-ped)

50

40

30 f—

20

10

o i i i i
20 20 60 80 100 120

APV channel

[ADC RMS for RDO=2,ARM=2,APV=15__}
60 F

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=16 }

= F—

3 —

a —

[}

a 50 f—
<

(2]

b

e 40

30

20

10

i
120
APV channel

°THI]'I'I'HIH'I'I'[III1"I'




run_13045164 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Wed Feb 15 00:28:08 2012

[ ADC for FGT RDO=2, ARM=2,APV=17 | [ ADC for FGT RDO=2,ARM=2,APV=17 |
4000

-ped

3500

&
ADC-ped

Al

3000
2500
2000
1500
10
1000

500

0

10°

3000 4000
raw ADC APV channel

ADC for FGT RDO=2,ARM=2,APV=18 _§ [ ADC for FGT

4000

C-ped

3500

= AD
U
T
ADC-ped

3000

2500

2000 f—
1500

1000

500
10

0

I
3000 4000
raw ADC APV channel

[ Apcfor Fet RDO=2ARM=2APV-19 | [ ADC for FGT

4000

-ped

3500

5

Al
ADC-ped

3000

2500

2000

1500

1000

10°
500

0

3000 4000
raw ADC APV channel

[ ADC for FGT RDO=2,ARM=2,APV=20

[[ADC for FGT
4000

Py
lw)
o
Tl
NS
>
Py
<
1l
NS
>
T
<
D
N
o
b

3500

ADgAped
ADC-ped

3000

1 H|'I1II'|HI'I

2500

0 0 0 2000

1500

10

1000

500

0

S Lboadfbaaca

=
=3

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

1000 2000 3000 4000 20 40 60 80 120
raw ADC APV channel

Py
O
O
N
p=
Py
<
N

ADC for FGT RDO=2,ARM=2,APV=21 _}| [ ADC for FGT

p=
T
<]
D
N
[
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500 e 10"

0

© AT A A A

N
N =5
IS
S
@
3
@
S
o
15}
53
e
N
5}

0 1000 2000 3000 4000
raw ADC APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Feb 15 00:29:21 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

APV channel




run_13045164 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Wed Feb 15 00:29:54 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

120

100 [
80 c
60 |-
40 |-

20 |-

L i i i
20 40 60 80 100 120

APV channel

RMS (ADC-ped)

18

16

14

12

10

FT]

" " " " " " " " " " " " 1 " " " 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

60 f—

50

40

30

20

10 £

APV channel

[CADC RMS for RDO=2,ARM=2,APV=20 _}

RMS (ADC-ped)

80

0 =
60 [

50 |

40

30

20

10

0

i
120
APV channel

RMS (ADC-ped)

50

40 f—

30

20 |

10

60 [F

i . . .
100 120
APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Wed Feb 15 00:28:14 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

-ped

Al
=}

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=1 }

AOQNOped

1 I
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=2 }

AgNCAped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=2,ARM=3,APV=3 }

AOBCAped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=4 }

-ped

Al
=)

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

= 4000 p—
] = .
e = o
Q 3500 fm— - - - s p e e - B e
< =
3000 f=—------f----- 1 2 drdpqe=cz=-
= ]
2500 p=— - mpe o] Pl i el
= 8
2000 - - - opn- - SEELETERE L EELELE
= 5
1500 o s v e e fe e B o B
1000 P=— - - -t e e e B B P
= 8
50 |==5c5000}oo000d scoco|bdbdbdsccsss
= 2
= 2
@|i==——=cosscjmovsag SEECEFEEE L EREEEE
= i
0 20
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=1 }
= 4000 p—
] = 0
5 =
8 3500 = cofpoedrocqesss =0
< = H
5000] =2 ELELELECEELELE SEELEEEE SEEL EELE =0
2500 e v s s m e e --
=
2000 fm—r s s e e m e e EEEE PR --
= o
1500 = --
=
1000 = --
=
500 = sogposqeses =0
=
0 = R o -
= . . i . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=2 }

- 4000 p—=
] = . . . . .
g = 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
=
APV channel
[ADC for FGT RDO=2,ARM=3,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000 e

500

0

APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Wed Feb 15 00:29:22 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Wed Feb 15 00:29:56 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

3 8 |[E=Sppoooeecoeeconsconss (0960000000000000000004 [59056005600060056009603 R0o0000000003008300030 Booamnoomacsaacoaacoaag R0o000000000a008300030k fracanans

Q

8 ] ] ] ] ] ]

< 100 f—frfr s - vsrenm s neeeee R PP LR PP e e foosscoscoacoasaacanasd fhocaoosa

0 ; ] ]

=

= : ] ] ] ] ] ]
8O LT NS EEEEEEE R R R ateaet R EEREEE Ry OROREEEENCEC O EaEg R, OROREEEECEC O EaEg goobaes
60 It 117 B B ; T RGRGGELLELLLELLLEL EGEELLELLELLLELELELLEE BocqdHpes
40 | : . I3---Ft- o B R o o = I B N R -

20 [

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}
70

60

50

RMS (ADC-ped)

40 [
30
20

10

N N N i
o 20
APV channel

[CADC RMS for RDO=2,ARM=3,APV=3_}
70

60

RMS (ADC-ped)

50

40

30

20

10

0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

F—

70 |

60

RMS (ADC-ped)

50

40

30

20

10 p——

60 80 120
APV channel

il HI‘I'11HIH‘I'I]IIH[I‘I11




run_13045164 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Wed Feb 15 00:28:22 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

ADgApecl

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

ABC-ped

I
3000 4000
raw ADC

1
0 1000 2000

[ADC for FGT RDO=2,ARM=3,APV=7 }

-ped

Al
=)

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=8 }

-ped

Al
=)

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=9 l

Aolioped

2000

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

1000 e
500 -
o] =3 =
E L . . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 fm— - - - -
< =
3000 fm— - - --
=
2500 f=— - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 f=— v - - - e e
=
ofE—e
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Wed Feb 15 00:29:23 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Wed Feb 15 00:29:57 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

5 E
:;’? 60 [
o
<
@ 50
=
['3
40
=
=
30 B
20 fF—
n
10 H—
.i._
0%

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=6 }

70

60

RMS (ADC-ped)

‘HIIIIH‘”‘I‘|

50

40

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=7 }

RMS (ADC-ped)

APV channel

80 E

70 B

RMS (ADC-ped)

60 |

50 K

40 E

30 |

20

10

0
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

RMS (ADC-ped)

i
120
APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Wed Feb 15 00:28:30 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Wed Feb 15 00:29:25 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13045164 FGT _RMS 1,Timebin=2,Disc=4,asmb=4CD
Wed Feb 15 00:29:58 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Wed Feb 15 00:28:32 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

A‘%Oped

1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=2.ARM=3.APV=18 |

1 I
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=3.APV=19 ]
—

ADgped

1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=3,APV=20

ADgped

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=21 _§

-ped

Al
=)

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=3,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A A

APV channel

[ ADC for FGT RD

0=2,ARM=3,APV=18 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RD

0=2,ARM=3,APV=19 }

1
120
APV channel

80

APV channel

- 4000 p—=
] =
o =
Q 3500 f=— -
% =
3000 f=—
=
2500 f=— -|
=
2000 f=——
=
1500 = -|
1000 = -|
=
500 f=— -
=
0=
=
[[ADC for FGT RDO=2,ARM=3,APV=20 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0

20 40

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

80

120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Wed Feb 15 00:29:25 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13045164 FGT _RMS 1,Timebin=2,Disc=4,asmb=4CD
Wed Feb 15 00:29:58 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

70

60

RMS (ADC-ped)

50 |2
40
30 f—
20

10

APV channel

[ADC RMS for

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

1
120
APV channel

[CADC RMS for RDO=2,ARM=3,APV=20 _}
80

70

60

RMS (ADC-ped)

50

40

30

20

10

°'I1|I[I‘IHITI'I1|HI'I]IIH'M%H T

i i
20 40 60 80 100 120
APV channel

0

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC
Wed Feb 15 00:28:40 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

ISC=

in=2,Di
26 2012

b
29

B 1, Time
Wed Feb 15 00

run_13045164 FGT_MPV_1,T

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13045164 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Wed Feb 15 00:29:59 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13045164 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC

Wed Feb 15 00:28:42 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

Aé)opecl

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

AgNOped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=7 }

-ped

Al
<

1
2000 3000 4000
raw ADC

1
0 1000

[ADC for FGT RDO=2,ARM=4,APV=8 }

ADgped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=9 |

AD%ped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}

= 4000 p—
] = . . . . . .
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
=
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Wed Feb 15 00:29:26 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13045164 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Wed Feb 15 00:29:59 2012

[CADC RMS for RDO=2,ARM=4,APV=5__J

ES =
2 70 FR
Y -
8 H 0
< 60 FH :
2 i :
© .
50 ]
H .
H
H :
40 B4 :
D= f
= H
— :
20 f— B H
el . .
10 =
= : :
o = i i A ; ; :
0 20 40 60 80 100 120
APV channel
[ ADC RMS for
=
2
&
[}
a
<
(2]
b
[
APV channel
[ ADC RMS for RDO=2,ARM=4,APV=7 }
g =
a n
o 60
a =
< —
g 50 f—=
x —
= :
40 f— X
30 f— B
20 f— i
10 P— .
o = 1 i i j i i
20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=4,APV=8 }
3 70 £
i
8
< 60 A
o Tl
= =
50 p—
=
o
—
Ly
30 |/
20 p—
10 f— o
= .
— :
o b= i i A i ; ;
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=9 "}

RMS (ADC-ped)

80

70 E

60

50

40

30

20

10

°'IIII]1HI]IH1|II1IIH1I[I1

20 40 60 80 100 120
APV channel




run_13045164 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Wed Feb 15 00:28:50 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13045164 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Wed Feb 15 00:29:27 2012
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run_13045164 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Wed Feb 15 00:30:01 2012
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